t,had d |ytbar{t}I [1/G eV]

pT

1/od’c/ d

Ratio to ATLAS

=
<
[

|
o
R

-
o
@

-
<
SN

107>

0.5

13000 GeV pp tt
. | I I I I | I I | I I I I _IE g
— top . . L
= P, (ATLAS semileptonic ttbar) 43
- 1=
B =

—i
- ] Nl
= ]
:liL ] ‘—|
B ™M
- “\g oy
2
| \ —*
- A -
— | AS -
~— [ Pythia6,428 350 ]
—  ---&-- Pythia 6.428.351 -
. NS
| --¥- Pythia 6.428 352, —
— ..A- Pythia 6.428 353 =
~  --0-- Pythia 6.428 354 _
| % Pythia 6.428 355 |
----- = Pythia 6.428 356
Pythia 6.428 357

Pythia 6.428 358
Pythia 6.428 359

mcplots.cern.ch [arXiv:1306.3436]

N

—0.5

1 " | " 1 1 " |
1500 2000
p."* [GeV],ly™ ] in [0,1]



	Contents
	Page 1


